










D= 0,75 m l/b= 1,00 m σk= 449,27 kPa σOL= 434,27 kPa HPV není

i h [m] z [m] m EOED [kPa] zR/B D/z κ1 zc/z κ2 zR [m] ICH σz [kPa] σOR [kPa] m*σOR s [m]

1 0,5 0,25 0,2 21277 0,21 3,00 1,48 38,40 1,00 0,37 0,68 295,30 20,00 4,00 0,007

2 0,5 0,75 0,2 21277 0,56 1,00 1,34 12,80 1,00 1,01 0,38 165,02 30,00 6,00 0,004

3 0,5 1,25 0,2 21277 0,87 0,60 1,25 7,68 1,00 1,56 0,27 117,25 40,00 8,00 0,003

4 0,5 1,75 0,2 21277 1,17 0,43 1,20 5,49 1,00 2,10 0,20 86,85 50,00 10,00 0,002

5 0,5 2,25 0,2 21277 1,43 0,33 1,15 4,27 1,00 2,58 0,16 69,48 60,00 12,00 0,001

6 0,5 2,75 0,2 21277 1,69 0,27 1,12 3,49 0,99 3,05 0,13 56,46 70,00 14,00 0,001

7 0,5 3,25 0,2 21277 1,94 0,23 1,10 2,95 0,98 3,49 0,11 47,77 80,00 16,00 0,001

8 0,5 3,75 0,2 21277 2,12 0,20 1,05 2,56 0,97 3,82 0,10 43,43 90,00 18,00 0,001

9 0,5 4,25 0,3 20270 2,14 0,18 0,95 2,26 0,96 3,86 0,09 38,22 90,00 27,00 0,000

10 0,5 4,75 0,3 20270 2,18 0,16 0,88 2,02 0,94 3,93 0,09 36,91 99,00 29,70 0,000

11 0,5 5,25 0,3 20270 2,25 0,14 0,83 1,83 0,93 4,05 0,08 34,74 108,00 32,40 0,000

12 0,5 5,75 0,3 20270 2,35 0,13 0,80 1,67 0,92 4,23 0,08 33,00 117,00 35,10 0,000

14 0,5 6,75 0,3 20270 2,53 0,11 0,75 1,42 0,90 4,56 0,07 29,53 135,00 40,50 0,000
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D= 0,40 m l/b= 1,43 m σk= 348,34 kPa σOL= 340,34 kPa HPV není

i h [m] z [m] m EOED [kPa] zR/B D/z κ1 zc/z κ2 zR [m] ICH σz [kPa] σOR [kPa] m*σOR s [m]

1 0,35 0,175 0,2 21277 0,43 2,29 1,70 56,86 1,00 0,30 0,49 166,77 11,50 2,30 0,003

2 0,5 0,6 0,2 21277 1,16 0,67 1,35 16,58 1,00 0,81 0,25 85,09 20,00 4,00 0,002

3 0,5 1,1 0,2 21277 1,92 0,36 1,22 9,05 1,00 1,34 0,13 44,24 30,00 6,00 0,001

4 0,5 1,6 0,2 21277 2,67 0,25 1,17 6,22 1,00 1,87 0,06 20,42 40,00 8,00 0,000

5 0,5 2,1 0,2 21277 3,30 0,19 1,10 4,74 1,00 2,31 0,04 13,61 50,00 10,00 0,000

6 0,5 2,6 0,2 21277 3,33 0,15 0,90 3,83 1,00 2,33 0,04 11,91 60,00 12,00 0,000

7 0,5 3,1 0,2 21277 3,80 0,13 0,87 3,21 0,99 2,66 0,03 10,21 70,00 14,00 0,000

8 0,5 3,6 0,2 21277 4,21 0,11 0,84 2,76 0,98 2,95 0,03 9,53 80,00 16,00 0,000

9 0,5 4,1 0,2 21277 4,66 0,10 0,82 2,43 0,97 3,26 0,02 8,17 90,00 18,00 0,000

Ʃ 0,006 m

6,0 mm
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D= 0,40 m l/b= 1,43 m σk= 303,79 kPa σOL= 295,79 kPa HPV není

i h [m] z [m] m EOED [kPa] zR/B D/z κ1 zc/z κ2 zR [m] ICH σz [kPa] σOR [kPa] m*σOR s [m]

1 0,35 0,175 0,2 21277 0,43 2,29 1,70 56,86 1,00 0,30 0,49 144,94 11,50 2,30 0,002

2 0,5 0,6 0,2 21277 1,16 0,67 1,35 16,58 1,00 0,81 0,25 73,95 20,00 4,00 0,002

3 0,5 1,1 0,2 21277 1,92 0,36 1,22 9,05 1,00 1,34 0,13 38,45 30,00 6,00 0,001

4 0,5 1,6 0,2 21277 2,67 0,25 1,17 6,22 1,00 1,87 0,06 17,75 40,00 8,00 0,000

5 0,5 2,1 0,2 21277 3,30 0,19 1,10 4,74 1,00 2,31 0,04 11,83 50,00 10,00 0,000

6 0,5 2,6 0,2 21277 3,33 0,15 0,90 3,83 1,00 2,33 0,04 10,35 60,00 12,00 0,000

7 0,5 3,1 0,2 21277 3,80 0,13 0,87 3,21 0,99 2,66 0,03 8,87 70,00 14,00 0,000

8 0,5 3,6 0,2 21277 4,21 0,11 0,84 2,76 0,98 2,95 0,03 8,28 80,00 16,00 0,000

Ʃ 0,005 m

5,0 mm
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